HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)
10T\ m. =502, 535, 577 D65: 57 p {A)=108,89

JoodM m2=3.37, 6,76, 3,37
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)
10T\ m =504, 540, 579 D50: 57 p {A)=82,49

Go2.dM,m2=3.24, 6,51, 3,24
7,5
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)

10TA; m =506, 545, 582 P40: 2§ oz A)=64,68

7.9

Jo24M m2=3.05, 6,11, 3,05
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)
10T\ m =511, 550, 586 A00: 57 p {A)=35,58

o2 4M 1 m.2=2,80, 5,60, 2,80
7.9
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)

10fA1 m 52503, 540, 580 E00: £§ o2 dA)=100,00

7.9

JoodM m2=3.16, 6,35, 3,17
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)
10T\ m. =501, 545, 579 C00: 57 p A)=118,22

Go2.dM.m2=3,27, 6,54, 3,26
7,5
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)

10TA; m =505, 540, 581 POO: £§ oz JA)=81,06

7.9

Jo24M.m2=3.06, 6,12, 3,05
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HPE_CIE02-Zapfen-Empfindlichkeit Ys;=100
Go2,4A) = 2Mo2 1(A) = To2,1(N)
10T\ m. =501, 535, 578 Q00: 5 p {A)=123,00

Go2,4M,m2=3,28, 6,56, 3,27
7.9
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